Mean Value Theorem #1
The tortoise and the hare start a race at the same moment and finish in a tie. Which of the following must be true?

(a) At some point during the race the two racers were not tied.

(b) The racer's speeds at the end of the race must have been exactly the same.

(c) The racers must have had exactly the same speed at some moment in the race.

(d) The racers had to have the same speed, but not necessarily

at the same time. 

Be prepared to justify your answer using either Rolle's Theorem or the MVT.

[image: image1.png]




University of Illinois at Urbana-Champaign

Merit Program for Emerging Scholars


